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JerAXah taX0ov ,6y®maW-h tadX ,yOh)IEX X;raB
tylwX"r:B GEN I:1

,V&h:t yaen::P=l-iae few(x0v Vh(Yb8v ,VhE(t
htOyah /eraXOv GEN 1:2

.,6yAM-h y3an:P=I-i tepUx-

r:m ,yIYh)IEX +xVrOv

JerAXah taX0v ,6y ® maW-h t&dX ,yOh)IEX X;raB tylwX"r:B
GEN 1:1

,V&h:t yaen::P=I-ise few(x0v Vh(Yb8v ,VhE(t h'tOyah /eraX0Ov
\ , ) GEN 122

.,6yAM-h yaan:P=l-i tepUx-r:m ,ylYh)IEX +xVrOv

JerAXah taXx0v ,6y ® maW-h taX ,yOh)IEX X¢raB tylwX"r:B GEN I:1
,V§h:t yaen::P=I-iae few(x0v Vh(Yb8v ,Vh&E(t h'tOyah /eraXOv GEN 1:2
.,6yAM-h y&an:P=I-i tepUx-r:m ,yIYh)IEX +xVrOv



